CHM151 Q6a 25 Pts FALL 2005 Name : Ke’;{/
SHOW ALL WORK TO RECEIVE CREDIT. Due 7:30 a.m. vTuesday Oct. 11,

****Honor System: You are to Work Alone on this Quiz.

1. (3 Pts) What volume of 12.0 & HNO3 is required to prepare 900 mL of 2.0 &4 HNO3 solution?
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2. (3 Pts) What is the molarity of 1600 mL of a solution that contains 3.25 g of H3P04?
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3. (3 Pts) If 75.0 mL of 0.250 & HNOj3 and 75.0 mL of 0.250 & KOH are mixed, what is the
molarity of the salt in the resulting solution?
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4. (3 Pts) If 400 mL of 0.20 M HCl solution is added to 800 mL of 0.050 ¥ Ba (OH)» scolution,
the resulting solution will be ! 72 M\ in BaCl,.
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5. (3 pts) What is the molarity of the calcium chloride in the solution resulting from the
addition of 100 mL of 0.0500 # Ca(OH), to 200 mL of 0.0500 & HC1?
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6. (3 Pts) If 50.0 mL of 0.0400 ~ HBr is added to 100 mL of 0.0300 & Ba(OH)5, what is the

molarity of the acid or base that remains unreacted? 2 ?
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7. (3 Pts) If 200 mL of 2,00 & H3PO4 solution is added to 600 mL of 2.00 ¥ NaCH solution, the
resulting solution will be molar in Na3zPOg4. DV E E
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8. (3 Pts) If 20 mL of 0.010 M H3PQOys solution is cémpletely neutralized by 60.0 mL of Ca(OH),
solution, what is the molarity of the Ca(OH), solution?
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